
1

2

3

4

6

5

7

8

17

9

9

12

13

14

15

18

11

10

16

27

27

21

22

22

23

23

28

24

12

A 2071

Double Nut the
Top lugs

31

31

2
14

Red 4"

Black 4"

Red 4"

Black 4"

Red 4"

Black 4"

Black 11"

Red 11"

Red 11"
Black 11"

3

4

29

1 118640-004 PCB Assembly, Main 1
2 118640-005 Connector, Top 1
3 118640-006 Connector, Left 1
4 118640-007 Connector, Right 1
5
6

Back Plate, Power Hub 1

7
122101-001 Casting, Power Hub 1

8
715005-165

Stud, Junction Block, Red
1

9
715005-166

Stud, Junction Block, Black
1

10
709031-206 Screw, 6-19 x 3/4, Plastite 40

11
709031-903 Screw, 1/4-20 x 1/2 FHM, Stainless Steel 3

14
713501-903 1

15
715005-147 Ring Terminal, 10-12 ga, 3/8 10

16
715005-110 Ring Terminal, 14-16 ga. 3/8 2

17

716004-261A Epoxy Potting, Part A .30gal

18

118640-021 Fob Antenna 1

19

118640-022 Ribbon Cable

20
21
22
23

708000-146 Wire, 12 Ga. Red, GXL 41

24

708000-147 41

25

2

26

12
709031-905 Screw, 1/4-20 x 3/4 FHM, Stainless Steel 1

13
713501-905 Nut, Hex, 3/8-16 w/K-Lock 6

Nut, Hex, 1/4-20 w/K-Lock

Wire, 12 Ga. Black, GXL
708000-170 Wire, 16 Ga. Black, GXL

BLS 7/19/16

122101-025 F

Gateway Hub Assembly, PP II

2

716004-261B Epoxy Potting, Part B

2Standoff, Gateway, Hub118640-030

.30gal

122101-002

Bracket, Strain122101-003 2
2Edge Trim, PVC, 1/8" x 5.75 Lg708000-122
1Decal, Power Hub122100-102

Notes:

 1. Boot Code: Boot.Hex

 2. Application Code: 2.55.Txt.

709031-90527 4Screw, 1/4-20 x 3/4 Filister Head
4709031-906 Screw, 1/4-20 x 1 Flat Head28

Production Release 7/19/16 BLS

29 4709031-907 Screw, 1/4-20 x 3/4 Truss Head SS

Place in Small Bag
Tape to Inside Hub Cover

Application Code 2.5530 912210-255 1

B 2137 Added Item 30, App Code 2/23/17 BLS
C 2232 Item 30, 912210-248 was 912210-244 10/11/17 BLS
D 2347 Item 30, 912210-255 was 912210-248

Changed Note 2
9/28/18 BLS

Item 27, 709031-905 was 709031-902
Added item 31, Spacer

10/2/18E BLS2350

4Spacer, 1/4" x 3/16 Plastic709031-81431

Item 23, 708000-122, Qty 2 was
708000-120, Qty 11.5

10/25/18F BLS2357

Since 1893

CAPSTAN
Ag Systems, Inc.

®

SHEET 1 of 1

Qty

CAPSTAN AG SYSTEMS, INC.
4225 Kirklawn Ave., TOPEKA, KS 66609

QA APP

Checked

Drawn

DateName TITLE:

DWG No: REV

DescriptionPart NumberItem

B
None

SIZE

SCALE:

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF 
CAPSTAN AG INC. ANY REPRODUCTION IN PART OR AS A WHOLE
WITHOUT WRITTEN PERMISSION OF CAPSTAN AG INC IS PROHIBITED

REV    ECR                    DESCRIPTION                          DATE       BY


	Sheet1
	Drawing View9
	Drawing View11
	Drawing View13
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View29
	Drawing View30
	Drawing View32
	Drawing View33
	Drawing View34
	Drawing View35
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View40


